Hatarozza meg az alabbi figgvények derivaltjat!

1, f(x)=(2x+1)’ 16, f(x)=(x+5x-3)
2, f(x)=+x*-4 17, f(x)=lg(2x+4)
3, f(x)=log,(x* -5x+6) 18  f(x)=In(3x)
s, f(x)=In(x*+2) 19, f(x)=¢e>
5, f(x)=e 20, f(x)=+v1-4%
2 X
6, f(X)=+vx*+5x+6 21 f(x):ii;x
7, f(x)=+vi+e" 22, f( ):Gi—zj
1-/x
f(x)=In{l- f
8 (x)=InfL-+x) 23, f(x) T x
_ ~ , _ e3x
o, f(x)=In(1-3x?) 24, f(x)= e
10, f(x)=e +In7x 25, f(x)=4x*+e” +In2x
11, f(x)=v2-5% 2% f(x)=107 - (x*+7)
12, f(x)=(x*+3)llog,(4x~2)
13, f(x)=+2+5x° —e " -In(9x-1)
14, f(x)=e™ [g5x 27, f(x)=In?(x* +1)
15,  f(x)=InVx*-2
28, y = (X* +4)? 29, y=(x*+13° 30, y =V4x* —6x+9
v _ 1 _ 35x'g
31, y=+/X>+5x 32,y—m 33,y—m
34, y =/x(x* +3x) 35, y=xe 36, y:XZ_4
X+7
37, y=Jx(x*+3x) 38, y= X;ig 39, y =In(x?)
40, y = e""™ 41, y = xsinx 42, y = /xe*



43, y= e (X3 + 3X)5 44 y= ex2+19x+49

45 f (x) =6x° +\/_ \/_+Iogs8 2log, x
sinx . 2cos(x® +2x)
46, g(X) =—— 47, h(x) =€e*nx 48, i(X)=————=
90) 4x° - 9 ) X* +6x+3
49, j(x) =siny/10x* +3x>
. sinx
50, fix=xI[sinx, 51, f(x) =xI[sin3x, 52, f,(x)= 13
53, f4 (X)=+/sinx+3, 54, fs: = x* [$in5x, 55, fg(x)=X> E/FE'kinx,
56, f;(x)= (x5 + 77)3 [$in3x, 57, fg= x[(;—(rsiix'
X e
_ x*[tosx®
58, f —_— 59, f,, =x%cos4x+ :
W S x+6 H x? +1

f,,(X) = sin2x gx (XD}—I—T,—),
60, 22

61, f15(X) ::t93X+Cth3+3X‘3\'/;—% (XD}Oj/ZZT{),

62, f,(x):= _Sin3x_, cos’(2x+1),

64
65,

67,
69,

71,

73,

75,

77,

79,

x* ++/2
63, f ( ) arctg’Zx
a cos? x+5’
f (x):= arctgex* fcos’ x +5).
1
f(x)=——++x 66, f(x)=(1-x%)dx* -2
S W= -2)
_2x% +3x — cin? v — cin v
f(x)= Lo 68, f(x)=sin?x-sinx
f (x) = x? [Etg/x 70, f(x)=e™[tos2x
o _ arsr‘(g+3j
f(x)=tg v 72, f(x)=e
f(x) = ctg i1 74, f(x)zln(x+\/x2—1)
(%) = In(chy/x) 76, f(x)= th[ C)‘(’fz_leJ
f(x) = shlv/x &) 78, f(x)=sin?(arccox)

f (x) = log, (W Bkhx)+ e’



